&

N7 Haitec- GR

2021-V6

Ly

YO-RYeHrTR

o3 B R

Http://www.haitec.com.cn w

SHEAIN<PI=Z o

<.z Haitec- GR

TREMEDRKERLE

Guangdong Haitec Transmission and Technology Co.,Ltd.

ik SAREBREMHREEGMN T ERSSHEE (EE ) T EMS5#102
FE1E (Tel) : 0769-88885696 020-32351758 0769-88885580
f€E (Fax) :0769-88886001 020-32353079

E-mail : ig@haitec.com.cn

MLk : http://www.haitec.com.cn

HB%% ( Postcode) :523226

[TFRERMEDIRRER2E

Guangdong Haitec Transmission and Technology Co.,Ltd.

9N-1202



_IE‘_ R ®
ST Haitec-GR o/ \

Guangdong Haitec Transmission and Technology Co., Ltd. was formerly known as Haitec
Transmission and Equipment Co., Ltd. It is wholly owned by legal persons from Hong Kong with a
registered capital of HK$ 8 million. It was established in Tianhe District of Guangzhou, Guangdong in
December 2002 and passed ISO9001 quality management system certification. It is one of the earliest
enterprises in China to introduce advanced transmission technology knowhow from Italy. It provided
to customers with the best services and meet the development needs of Guangdong-Hong Kong-
Macao Greater Bay Area. The headquarter was moved to ZhongTang , Dongguan City in December of
2020 which is located in the center of Guangzhou-Shenzhen Economic Corridor.

During the last 20 years, with the strong technical strength, high-quality mature products and
perfect service system, the company has been rapid development. The “Haitec-GR®" trademark

series products sold to all over the country and overseas markets
such as Europe and America, and the advance specification and
high quality of our products for the typical applications are
agreed with the customers. We will give full play to its own
advantages and adhere to the principle of "Create leading science
and technology, Serve people of the market, Treat customers with
integrity and pursuing product perfection. We insist the concept
of "Product is the Character of the Enterprise”, we have
technological innovation, service innovation and management
innovation in order to developing more valuable transmission
products to meet the needs of future development.

Whether in now or in the future, we will, as always, open our
arms to invite first-class talents. They can embrace and join into Haitec' family to make better
products, and let Haitec-GR® brand to serve worldwide users.

I RESRMERIBIRATERIS AT RS TEMNRFZERAT , HEBRENET I | iTHEAR
800 /i , F 2002 & 8 BES MR AIX ALz , 2002 £F 12 Bi@id ISO9001 RESEARINE , EER
SERSHES (BEAF) ) SeHEEWIEARNE L z— , ATEFNRSHEF. ENEBRASXINAEEX ,
AFRERTF 2020 F 12 BiFR 7T REFEBRT ONEREDPEE.

+Z2EREEIEBRIRASTH , MERREFR  T=2RRESEHR | FAEERI7TRENARE. NEES
B9 Haitec-GR E#HRE G BEN M- miBfh £ EZ N EESEBINEE . BRI 0sLhrm AR EE!
THEFNRSBE—E3FE. ERENRSERADERDRIEEEMNE , & "Rk, RE™H. W
SEA. BRZE" WREN TRMEAR" HNOWES , RN TRACE. IRSCIFMEES X CIH4
LR HEZHEARR R B E KRG IR R,

FEREERER , AP FRR—REIAZHIHRME , F1F ]SRN A R EME T
B, it JfHaitec-GR® R IFIHIRS A,

Haitec-GR®




=‘§’=HaitEC_GR®——
) )

JAN =iy =

N\
I

\

jlll ﬂl " ¢
J ETTTLL -

B S

\=~ S2= X .
> . XIS Haitec-GR




> Haitec- GR v
1’ NIET

General Features

RV series of worm geared motor that our company produce include 8MRV and 8RV. Their performance features:
> ZK worm profile >high anti-wear material .

> Excellent performance, simply structure, small cubage and high efficiency; )) Product Description F~oafan1-5
> Easy to mount and maintain;

> Wide output Reduction ratio, large torque and good capability of enduring overloads;
> Running stably, low noise and wearing well;

> Wide applicability and enough safe dependability.

8MRV Boundary dimension and size g% J 8MRV = Q2R ERT 6-26

Critical applications:

Itis also necessary to take in consideration of and carefully assess the following applications by calling our Technical
Service:
> Applications with especially high inertia,

> Applications with high dynamic strain on the case of the reduction unit, 8MRVCover . Torque arm SMRV |}EHJ§ N 5 /;az/:lj- 27
> In places with T° under -10°C or over 60°C,

> Usein environments pressures other than atmospheric pressure,
> Avoid applications where even partial immersion of the reduction unit is required,

wr 8MRV Mounting positions with motor 8MRV SHiH1&2&ERRK 28

Fe o8 w1 A PR IIR V 2 A B SR S SR AT U8 25 ELFS8MR VAISR VI S, X Fh 72 i A 435 5 =

> R HZ KR HE R AL 4515 30 e 2

> Sk iR A Combine Dimensions and motor XX’Z/}TI F'Tf/?é'—ﬁ

> PEREMIE . 450 B3 . BN JERE ; ; I =ErS -
el Ny installation B 29-33

>1§ﬁ]tb7@l¥lj€ WK, RZiTHREE;

S BITTR . BT B4 User's Manual E1FH%E 34-35
> i PR ﬁt/aé_faaﬁjto

N G T
TEBGER AR S | 72 S22 /i, 3 A Z % 0T B4 S - AC Asynchronous Motor ¢ EH L 36-51
> 0] UFE M 5 1E R a2 4 P

> ﬂumfﬁﬁlugﬁﬁﬁﬁ rﬁﬁ—F;
> 1 BRI BETE [Fl-10° ~60°
> HTERRIE E TS KBRS

PR -~ Certificte
> 7R Y e e o H T R BRI
= g : S
/r% ._9,_ ”Yit\;% , r:‘a\%\g O i I \
K = 2 — . . %
% ] |®Jr L) waw N Q 1w %
; g ] y
] / 7 - - / Onun ! ,Q - o
B, ‘ B S E — WEFWL o
EE 7 O - 8t PN FaEl ; ; L & @@ sl
= e ° !ﬂ e m & 0y
= T . prma L] o
- % TSR g e o= fns =
& wme Q Qyugun B i Ty B A )
- 2 TR gfg”
F=R = 7 @ N S7ES
e #,
@, 4 o
5] K @ -
= © musns ] - (9 R . :
@ﬂ_ 22 el B h,“”‘ /| (] % \ o O“ ah .
@l L - RET \ = q
X _@_7 Q s & o -
TR O @ e it sg
el
i _ (=] o] i &
?jw' & - @ = e ) mailn E @@
N - d E @ 3. =
ED| == ' ER i % O AL N \
\\ = | =] fﬁ‘i'ﬁ : a A O = B




® I e XN ®

— N = = = >
N ¥ Haitec-GR T LI XL W -~ e o= N1~ Haitec-GR
I r g0 s.A. hix r g8 s hix P E—
Designation %! 5 & fi#
8MRV | .VS | 040 | .20 | -140 /11 +FA Designation 53
Input code | Output code Size |Reduction| Inputflange |Drive shaftdiameter| Outputflange
name name ratio diameter SMRY w%m‘ge‘frg‘d fno;cor/\
BIATER | IR | OB | EEIE | MINEERST HMRVISEIATLR S s it i A\ T4 22 20 e (i B HL AL )
Worm reduction unit
8MRV VS 025 © 80 9 FA e
B8RV AB 030 7.5 90 11 FB BRV |t A bl 22
AS 040 10 105 14 FC Size
050 15 120 19 FD o
063 20 140 24 FE Output flange
075 25 160 28
?go 28 200 38 FA it % =2
5 250 42 Reducti ti i iti
110 50 300 30 ﬂ%ez‘jjllj:lg ion ratio DorS gﬁuép)‘ii‘tﬁﬂ%g;%g!gtmg position
The default 128 gg — PAM Fitted for motor coupling
o@?ﬁ?ﬁ%ﬂf 100 i A IE 22 SR 2 (I & s LA B AR A
fil 500 Motor flange diameter 19 Drive shaft diameter
Necessary Optional |Necessary|Necessary| Optional Optional Optional AINTE 2 RS b 5
%) (i) | %) | ) | (T (i1 (i1 o I - EMRVIT LIS T
| VS | i i AS | wommtin
' i
AB Double output shaft B3 Mounting position
P L 1 i 4 il LRI
Electric motor power Electric motor polarity
Double output shaft 0.75KW 4P o
AB (Ppgaeise) HUBLZ) LB 2
530/400V Eé;{;%j}}lmotor voltage 50HZ Eé;ﬁ%;%motorfrequency

Type selection &A%

HMRYV (Double input s$haft (Sigﬂgg%gutthsgﬁaﬂ
i i Fic [0 o 5y N o) i
Worm reducer with hole and flange input J
(s Performance %
Hours/day®: H TAER %L
Starts/hourless than times | Starts/hour more than ten times
Type of load B/ NI TE) TP B DT 10U |/ N ISR ) AR ECEOR T 101k
TN B e A 7 g 1
<2 2~8 8~24 <2 2~8 8~24
Service factor T./E &%k
HRV Uniform 7 477 47 far 0.8 1 1.25 1 1.25 1.75
(Worm reducer with shaft input
i N SO AL Moderate i K E 1 1.25 1.5 1.5 1.75 2
Sample1:”8MRV.AS063.20-200/24+FB” indicates: 8MRV (input hole) form.
with single output shaft.size63mm. Input flange size is 200mm. H hocks HF B/ ETS
Input hole is 24mm. matching output flange FB. eavy shoe SRR 1.25 1.5 1.75 1.75 2 2.25

A1 “8MRV. AS063. 20-200/24+FB”"# 7~ : SMRV (L% A & 2\, M7 5 [ Fay H
ot BE63mm A% B EL20, i A 22 K/ H200mm, B N FL 24 mm, BCF B H vk 2

Sample2:”HRV110. 25”7 indicates : HRV (shaft) input form. size 110mm.Reduction
ratio is 25.The default output hole form. without output flange.
A~2: “HRV110. 25”7 o HRV Gl 4 A JE 2, 1.0 BE110mm f% 3 Eb25
1 RO AL =X, AN v =




Fivw © m—
STsHaiteC-GR vz o >t 7
— r 20 /A R
Parameter Schedule (With 4p,n.=1400r/min motor)
AN RS HRBE4LHN.=1400r/minEE 1)
Size Size Size Size
il BE25 FEE30 Fu 2540 FlBE50
i [nAr/min)| | Pi(kw) [Mo(N.m)| s.f. | | Pi(kw) [Me(N.m)| s.f. | | Pi(kw) |Me(N.m) s.f. | | Pi(kw) [M(N.m)| s.f.
5 | 280 - - - |1 0.18| 5.3 |3.4|| 037 | 11.2| 3 || 0.75 | 22.8 |2.7
7.5| 186.7 - - - |1 0.18| 7.8 |2.3|| 037| 16 |2.4|| 0.75| 34 |2.1
10| 140 - - - {018 10 [1.8|[ 037 ] 21 [1.9|] 0.75] 44 [1.6
15| 93.3 || 0.09| 7.3 |16]|]| 0.18| 14 [1.3|] 037| 31 |[13]|| 0.75| 63 [1.2
20| 70 009 92 [1.3][0.18] 18 | 1 037| 39 | 1 ||/ 075] 81 [0.9
25| 56 0.09| 10 [1.2]|0.18 | 21 | 1 0.37| 47 |0.8|| 055 | 71 | 1
30| 46.7 || 0.09 | 12 |1.1|| 0.18| 24 |0.8]|| 0.37| 53 |[0.8|| 0.55| 81 | 1
40| 35 0.09| 15 |0.8]| 0.12| 19 |0.9]|| 0.25| 44 [0.9|| 0.37| 68 |[1.1
50| 28 006 | 12 |0.9]/0.12| 23 |0.8|| 0.22| 47 |0.8|]| 0.37| 80 [0.9
60| 23.3 || 006 | 14 |0.7|| 009 | 19 |09|| 0.18| 43 |[0.8|| 0.37| 89 |0.8
80| 17.5 - - - || 0.06| 14 [0.9|| 0.12| 34 | 1 || 025| 72 |0.9
100, 14 - - - - - - || 0.12| 38 [0.8|| 0.18| 60 [0.9
Size Size Size Size
B 63 HlEE75 FBE90 HulEE105
i [ne(/min)| | Pi(kw) [Mo(N.m)| s.f. | | Pa(kw) [Me(N.m)| s £, | | Pi(kw) [Me(N.m)| s.f. | | Pskw) [Me(N.m)| s.£.
5 | 280 1.5 | 46 | 2 - - - - - | - - - | -
75| 186.7|| 1.5 | 67.5 1.9 4 182 | 1 4 |184.2|16]|| 7.5 | 345 [1.3
10| 140 1.5 | 89 |1.5 3 180 | 1.1 4 243 [1.3|| 7.5 | 455 | 1.1
15| 93.3 1.5 | 127 | 1.1 3 261 | 0.8 4 352 | 1 55 | 484 [1.2
20| 70 1.5 | 166 |0.8|| 1.5 | 168 | 1.3 4 458 | 0.8|| 4.8 | 557 | 1
25| 56 1.1 | 146 [0.9]|| 1.5 | 205 | 1 3 420 | 0.8 4 | 573 | 1
30| 46.7 1.1 | 167 | 1 1.5 | 233 | 1 3 479 | 0.9 4 | 647 | 1
40| 35 092 | 176 |0.8|| 1.1 | 216 | 1 1.84 | 377 | 1 3 | 638 | 1
50| 28 0.55| 124 |1.1]| 055 | 129 [1.6|| 1.84 | 452 | 0.8 3 | 767 |0.8
60| 23.3 || 0.55| 140 [0.9|]| 0.55| 146 [1.4|| 1.5 | 424 |0.8|| 2.2 | 648 |0.9
80| 175 || 0.37| 115 [1.1|| 0.55| 180 [1.1|| 0.75| 258 | 1.1|| 1.5 | 548 |0.9
100| 14 0.37 | 129 |0.9|| 0.55 | 206 [0.9]|| 0.75| 302 [0.9|| 1.1 | 473 | 1
Size Size Size NOTE
HuEE110 B BE130 FBE150 UNIT
i {ne(/min)| | Pi(kw) [Me(N.m)| s.f. | | Pi(kw) |Me(N.m))| s.f. | | Pi(kw) [IM(N.m) s f. | |, input speed  r/min
5 280 - - - - - - - - — | |n==output speed r/min
75| 186.7|| 7.5 | 345 |[1.3|| 7.5 [349.2] 2.1 - — | = | [M==output torque N.m
10| 140 || 7.5 | 455 |1.1|| 7.5 | 455 [1.8|| 15 | 921 | 1.3 ||i=reductionratio
15| 933 || 55 | 484 [1.4|| 7.5 | 668 |1.4|| 11 | 990 |1.3 || =Servicefactor
20| 70 55 | 638 [0.9]|]| 7.5 | 880 | 1 11 | 1291 1 EE
25| 56 48 | 688 |0.9]|| 7.5 | 1074]0.9|| 7.5 | 1074 1.1 E-Riva
30| 46.7 4 | 647 [1.1][ 5.5 | 900 |1.2|[ 7.5 [ 1274[0.9 || _sorimr  r/min
40| 35 3 | 638 | 1 55 | 1171]0.9]] 55 | 117113 wwimr  ymin
50| 28 3 | 767 [0.8|| 4.8 | 1244 | 1.1/ 55 | 1426] 1 ||\ o N
60| 23.3 || 2.2 | 648 0.9 4 [1179]0.8 4 119511 "
80| 17.5 1.5 | 548 [0.9|] 2.2 | 816 | 1 4 [1484] 08| |~TEHH N
100 14 1.1 | 473 | 1 22 | 966 | 1 22 [ 960 | 1 |[oF=THFRH

-t e
R E&E

Size reference substance

RS

RV025~150 photo
RV025~150 #g K

Dimensions

NN

Input size general schedules

N R SR

N R

7 2% YN ®
S Y7 Haitec-GR




® EEEE.

LI
ST SHaitec-GR y5 —+ t=

— N Jl\b\’m
Mounting Spec. Dm
8MRV [PAM-IEC| N| M | P |bm| tm | 5 |7.5/10]15] 20| 25] 30] 40]50] 60] 80100
25 56B14 |50| 65| 80| 3|104| - | -|-]9|9]|9]|9|9]9]|9]|-]-
63B5 |95|115|140| 4 |12.8 BN
. 53814 T80T 75160 T4 Taag| 11| 11| 11 [ 11 11 11] 11| 11| 11
56B5 |80|100]120] 3 |10.4 ]
56814 |50| 65| 80| 3]104] 2|99 |9[9[9]9|9]9]9]F9
71B5 |110[130|160] 5 |16.3
71B14 | 70| 85 [105] 5 [16.3] (4| 14| 14| 14| 14| 14| 14|14 - - - | -
40 63B5 |95|115|140| 4 |12.8
3514 ool 7500 T4 Tiggl 11| 11| 11| 11 1] 1] 11 11] 11| 1] 11| 14
56B5 |80[100](120] 3(104| - | -] -1-|-1-1-]1-19[9]9][09
80B5 |130165|200| 6 |21.8
80B14 [80[100]120] 6 |21.8| 12| 19| 191911911919 - | -} -} - | -
1 .
S0 77115154 17100 18350 132 g ]g_g 1414|1414 | 14| 14| 14| 14| 14| 14| 14| -
63B5 |95|115|140] 4 [12.8| - | - | - | - | - | - | - | 14| 11] 11| 11| 11
90B5 |130/165|200] 8 |27.3 T T T
90B14 |95|115|140| 8 |27.3|24|24|24|24| 24|24 24
63 80B5 [1300165(200| 6 |21.8
80B14 (801100171201 6 [21.8 19119119119 (19119(19|19(19| 19| - | -
71B5 |[110/130|160| 5 [16.3
71B14 | 70| 85 [105]| 516.3| ~ | ~ | ~ | T | T | T |~ [14]14 14/ 14|14
100/112B5[180[215| 250] 8 [31.3] 1T T T T 1.1
100/112B14110]130| 160] 8 |31.3 28|28 |28
90B5 [130[165|200] 8 [27.3] _ R
75 90B14 |95|115|140] 8 |27.3 2412412424\ 24) 24|24
80B5 [130165|200] 6 |21.8] _ | _ | _ | .
80B14 |80|100|120| 6 |21.8 19119/ 191191 19| 19119119
71B5 |110,130]160| 5 116.3| - | - | - | - | - | - | - | - | 14| 14| 14|14
100/112B5180 215] 250| 8 |31.3] _ T 1.1
100/112B14110/130] 160| 8 |31.3 28/28)28) 28|28 28
% 90B5 [130165|200| 8 |27.3
80B5 [130165(200| 6 |21.8
80B14 |80[100|120| 6 |21.8 19| 19] 19| 19119
132B5 [2300265]300[10(41.3| - [38%38*[38*[38* - | - | - | - | - | - | -
105 |100/112B5[180215[250] & [31.3] - | 28|28 28] 28| 28| 28| 28| 28| 28] - | -
90B5 [1300165|200| 8 [27.3] - | - | - | - | - | 24| 24| 24| 24| 24| 24| 24
80B5 [1300165|200] 6218 - | - | - |- | -|-1-1-1-1 -[19[19
132B5 |2300265|300|10|41.3| - |38%38*[38*[38% - | - | - | - | - | - | -
110 [1007112B5180215[250( 8 [31.3] - | 28] 28] 28] 28] 28] 28| 28] 28] 28| - | -
90B5 [1300165|200| 8 [27.3] - | - | - | - | - | 24| 24| 24| 24| 24| 24| 24
80B5 [1300165|200] 6218 - | - | - |- | -1 -1 -1-1-1 -|19[19
132B5 [230/265|300|10|41.3| - |38*38*[38%[38%38%38%[38* - | - | - | -
130 [100/112B5180/215|250| 8 [31.3| - | - | - | - | - | 28| 28| 28] 28| 28] 28] 28
90B5 [1300165|200] 8 |27.3] - | - | - | - |- | - | - | - [ -1 - 24|24
160B5 [250300|350|12(45.3| - | 42| 42(42|42(a2] - | - [ - | - | - [ -
150 132B5 [230265|300[10(41.3| - | - | - | - | 38|38[38]38[38[38] - | -
100/112B5180215|250| 8 [31.3] - | - | - | - | - | - | - | - | 28| 28] 28] 28

Note:(x)Low profile key suppied by Haitec
TR - R R AR A S PR At

e SIE=R
Patent NO. :
201130075048.6

iE : SMRVRFIISRHMRVARIIN L ER I52—H , JLIEEER .
B S4E# 24| : SMRV050=HMRV050.

Noted: The new “8MRV” seriesis totally interchangeable in all dimensions to old HMRV series.
The model designation is only change the old model “H” by “8" .
For example: HMRVO050 is replaced by 8MRV050.




L I 2% \ ®

F 9% ® m—
S S SlUaltar. . = = 35 Haitec-
~NY s Haitec-GR SMRV %;, SMRV 7&;! NY s Haitec-GR
Boundary dimension and output size Dimensions
AP RSE K RSt R

1025 030

HMRV 8MRV

jg 40 ‘ 55 S 63
35 ‘ 45 . ) = =
: RN
° e g | > N f 5‘4 i H ,/J_\\
17 111_J/‘r 3 < / d = ! ‘ T ‘ /_h!/( E
o =) N ° H I =
e . , ‘
H | Ullgsg [ b ¢ w szl | s , - En
B - I 8 g © n{ | fm | N S 3 O&/@/o
p 18 %S M I amex11 || | o — . 3 A
@9H8 - ® & Vs | _ 5
100}:1 L ® \/ 2 \ I\ H Inp/tjt bore )
1 Input bore ~ v ‘ < . 4 AL o & ‘ S
\ / AL N I S 13 i
@55 E / B @ Ny P T == I — T
©
‘ a75 44
6.5 © 22 p
34
42 63
21 21
Output shaft 101 N
e L,
[fasgd 50
25.5 25.5 4 ;
23 S 23 0 16 8MRV. VS @14H8 -
| ©
20 45 (] -
@ — — H Output bore
% R 5 @11H8 o .% i | it AL
S S N S 1 30_lgbg I
81 Output bore o /ﬁ\ {
oA
50 255 | i AL 3 J) I
4 23 | 9 % i
[te} Q B S
s@ = -

A

Ve
Output flange %t |
70X70 2.5
: Dm (H7)
s (g | M | P |bm|tm| s :
(H8) 5 (7.5/10|15|20| 25|30 |40 (50|60 |80 |100| Depth i%
z 63B5 | @95 |@115|@140| 4 [12.8| @9
3 Ml ||| --]-1 23
N 63B14 | @60 | @75 | @90 | 4 |12.8| @6
56B5 | @80 |@100|@120| 3 |10.4| @9
99|99 ololololo]olel|-| 20
56B14 | 050 | 65 | @80 | 3 |10.4| @6
) Weight:1.3kg
Weight : 0.7kg HE: 1.3kg
#i : 0.7kg




® EEEEN.

\uHalteC GR SMRV 275 |

Dimensions

NN

Dimensions

N

8MRV &%~

——m

¥ # Haitec- GR

8RV

51 20 20 45 51 20
3
] |
30 N —
=] o
/ © - <, 2,
> @ 2
4 S Q Q Q
1
Output shaft % H %l
128 102
M6X16 |.32.5 32.5_| M6X16 63 32.5 M6X16
30 30 30
== £
o ZE © o ©
3 3 =
Output flange % H1 ¥ %

70X70

R40
\5\

TU P
D}
10}

N

Of

@50H8

8MRV

78
50 __ 10 S 7
101
70 :/ bm ’/_r\~
0 ‘ ‘ /1 / .
&O‘ \‘\ Ll | O
| Fany
4-M6X8  He 4@7;”3 z = Dm gl P Wl/( q}ﬁr
== l ~ 8 S
\ } Input bore f s ©
D N AL o S
H 0 ‘ 8
ek B B " \
€, o L
S ° ) 4
N 89 € 60
71
6
8MRV. VS CALGLIR S B = B
S 26
23 53 M 78
Output bore
4 HAITEC $@Hj?L
“’-1%‘ @ laslsa 1]
o =rr
T Q!
= 2o\
8
N\= ) Y
PAM-IEC | N Dm (H7)
Emeah [(Hgy| M | P (bm|tm | S \
(H8) 5 (7.5/10 | 15|20 | 25| 30|40 |50 |60 |80 |100| Depth i
71B5 @110 (@130 (@160| 5 |16.3| D9
14 114 |14 (14 |14 (14 |14 | 14| - - - - 30
71B14 @70 | @85 |@105| 5 [16.3| 97
63B5 @95 |@115|3140| 4 (12.8| 99
M1 111|111 |11 111111111 23
63B14 @60 | @75 | @90 | 4 (12.8| D6
56B5 @80 |@100({@120| 3 [(10.4| Q7 | — - - - - - - - 9 9 9 9 23
Weight : 2. 4kg
i 2.4kg




® I L I 2% \ ®

xIsHaite-GR gMRY %= 5 8MRV Z % ¥ Haitec-GR

I 4N phald

P

Dimensions Dimensions

ST Rt

60 _ 23 23 53 60 _ 23 02
60 __ 80 s %2
4 HAITEC 121 3
‘ y
© 40| | = g@ | BLC): et M= - 80 . /
= " =) Q) mm mm ! bm /
= = j = i !
Q Q | /7 ) 8 Q 4-M8X10 H 50 d L 3 Z = o . ]
/ | / ! Dm € . o I \g
<
< 3 FY4 Input bore -
— HIAAL ol 2 \Q
©
Output shaft % H fih .
164 ‘ 128
43 43 M6X16 8 43 M6X16
M6X16 40 0 5 40

@18h6

: . e : 8MRV. VS . e
® ‘' ° & ° ; |
N
@25H8
5 M6X16 50 &4 Output bore

i AL

@fﬂ

2146

i Dm (H7)
S gy M | P |bm|tm]| s .
(H8) 5 [7.5(10| 15|20 | 25|30 |40 | 50|60 |80 |100| Depth i%
80B5 130|165 |3200| 6 |21.8| D11
19119119119 119119 |19 | - - - - - 40
80B14 @80 (F100|@120( 6 (21.8| @7
71B5 2110 |2130(@160| 5 |16.3| @9
14 [ 14 [ 14 |14 |14 |14 |14 [ 14 [ 14 |14 | 14| - 30
71B14 @70 | @85 |@105| 5 |16.3| @7
63B5 @95 |@115|@140| 4 |12.8| @9 - - - - - - B T T e I I | 1 23
Weight : 3.6kg
HE  3.6kg

10 11




P

® I

®

: FIR
~T 7 Haitec-GR SMRV Z % SMRV Z 5l NI 7 Haitec-GR
— g 4 Ny —
Dimensions Dimensions
ST Rt
8RV.VS
8RV SMRV
74 30 30 64 74 30 S 106
72 95
M6X16 5 M6X16 | M6X16 e 1N
i © H
| e | g /| I/\\
©! © T NE ©
z = 5 [ &3 sl o jé% Mol TRe
S 3 s on s s | AL AT
8-M8Xx14 Input bore E ¥ /t ©
N AL > | S
- N % \ 8
~
Output shaft i i 4 199 153 0 67
53.5 535 92 53.5 e 85
M10X24 | 50 50 _|M10Xx24 50 | m10x24 103
| E— & ki — %1** - 8MRV. VS =
© . © ONVIRV. VO 3 35 35
0 < S _
8 g S i gt}%@ N
40 75 = 139
@ @ 6 M6X16 ‘ 225H8 2 =
N I Output bore
Output flange % ! % % S i,
(]
o
| s
110X110 =
R62.5
PAM-IEC | N Dm (H7)
\ M P |bm|tm | S
o FD AL | (H8) 5(7.5(10| 15|20 | 25|30 |40 |50 |60 |80 [100| Depth i
89 72 90B5 |@130|@165|@200| 8 |27.3|011
24 |24 |24 |24 |24 |24 |24 - | - | - | - | - 50
B 5 90B14 | @95 | @115 |@140| 8 [27.3| @9
‘-——‘ J[ ‘-——‘ 80B5 | @130 | @165 |@200| 6 |21.8/@11
&f\. &f’“ 19 (19 (19 (19|19 |19 19|19 19|19 | - | - 40
A | Q" i 80B14 | @80 | @100 |@120| 6 |21.8| @7
l 7 o z O e 71B5 |@110|@130|@160| 5 |16.3| @9
° 153 == - - - - 1414|1414 |14 30
L/ | < |L/ R 71B14 | 070 | 285 |2105| 5 |16.3| @7
: i ﬁ : E L Weight : 6.3kg
L i 6.3kg

12

13




Dimensions

NN

Dimensions

N

Ll QN

®

S8MRV %% [T 7 Haitec-GR

063

40 40
M6X16 M6X16
© Q,
> o
8 8
Output shaft 219 Output flange
A ]Sl
i 53.5 535 WA= \ FE 805 ‘
M10X24‘ 50 50 | M10X24 165
© ©
ﬁ =
Yo
S S
173
o)
112 53.5 I
8 M10X24 -
"Illllyllé?zllllllllll‘l [
g7 ©
w
N
Q

R90
Y

142X142

@200

~0
G

11

k=
jﬁ/ | 2 é/ | =
- e — - S
S | =
o | el o | Jol |
FC FD—‘
08 107
10 10
5 5
&0 og 60 og Il
a5 | 5 |
© Oé/ i % O Oé/ i %
= iR = - §
= =
- ol @ sl

SMRV

075

86 112.5 120
T
174 S 114
o 120 /\
" T TRITEC T bm }
| | O O,
8-Mgx14_|l7s I = sla o R\
Dm I - ® © ©
® \ - 9 @R ©
Input bore N - ,é
AL ° 8
© % 3
) B K3 ®
| AN [To)
T 9
& | e
112
120
8MRV. VS g
50
8 M8X20 @28H8 © 7///////////.//%//////////
S s
o © Output bore
3 HBHFL
N
Q
PAM-IEC N
. M P |bm|tm | S
G | (H8) 5 [7.5]10[15] 202530405060 80][100] Depth %
100/112B5| 2180 |@215(@250| 8 |31.3|014
28 (28 [28| - | - o 60
100/112B14| 9110 (@130 |160| 8 |31.3| B9
90B5 2130|2165 |@200| 8 [27.3|011
- 24|24 |24 |24 |24 (24|24 | - - - - 50
90B14 @95 |@115|@140| 8 |27.3| @9
80B5 7130|3165 |3200| 6 [21.8|T11
- - - (19119191919 (19|19 | 19 40
80B14 280 |100|@120| 6 |21.8| @7
71B5 @110 (@130|@160| 5 [16.3|D11 - -1 -=-1-1- - 114114114 | 14 30
Weight : 9kg
HE : 9kg

14

15




Dimensions

NN

Dimensions

N

Ll QN

®

8MRV F3| 23 /HaitecGR

8RV

075

105 50 50
M8X20 8 M8X20 M8X20
~
N =
© <, ©
< S <
8 S 8
Output shaft #j t %
247 192
63.5 63.5
M10X24 M10X24 M10X24
M
© Y I © ©
L 2554 < e
<) 0] [ee)
N
8 @ ) 8
Output flange % % %
111 90
13 13
170X170 J[ 6 @160 6
|
|| « ©
| T T
- 8 =
i ) )
4

HMRV

103 129.5
! s 140
208
- 134
~ 140
| A bm _—
= i e
H - i c 0/\63,
8-M10X16 H H ;Z = i= —
s PN l=o O S W
g | . © 28 o
nput bore ]
) i L « S =
gl R °
5 [ - Y N
bc6° ‘Q 74
100
130
HMRV.VS 140
50 108 _10 y
8 M8X20 ,,,,,//w/%///im
A -
N @35 H8 SN . 2
© 3
N Output bore
Q L
PAM-IEC | N |\ i | p (pm|tm | s Dm (H7)
G AL | (H8) 7.5/10]15] 2025304050 60|80 [100] Deptn %
100/112B5| 9180|2215 |@250| 8 [31.3|@15
28 |28 |28 |28 |28 |28 - |- |-1|-1]- 60
100/112B14| 2110 | @130 |@160| 8 [31.3| @9
90B5 |@130|@165|@200| 8 [27.3|@11
24 |24 |24 |24 |24 |24 |24 |24 |24 - | - 50
90B14 | @95 |@115|@140| 8 |27.3]| @9
80B5 |2130|@165|@200| 6 [21.8|@11
= =1-1-1-119]19]19|19] 19 40
80B14 | @80 |@100|@120| 6 P1.8 | @7
Weight : 13kg
i 13kg

16

17




P

Dimensions

NN

® I

N.Y .~ Haitec-GR SMRV

Zr

74N

5

Dimensions

N

L &9

HMRVZEZS .25 Haitec-GR

74N

HRV HRV.VS
125 _ 50_ M8X20 M8X20 _50__ 108 125 50 M8X20
8
| -
PENY i=3 resN =
< © © =<
2 iy < 2 K s
ZSNBE W
Output shaft % H! %
309 234
M12x28 |- 845 84.5_| M12x28 140 845 | M12xzs
80 80 10 80
272777
= g |
© 2 © paer ©
3 g T}
- @ ®
Output flange % H ¥ 2%
\ FA -~ FB
111 122
200x200 13 18
© © 6 © © []
R105 — OQSZ QS—L 6
P © 0, 0, 0,
RINILE 1
~ T
_ - S -1l e
A\ '/ 14 — S o g
& = P i<_ T i<
> i
FC ———
110 FD 151
200x200 g 13
6 r ~H 6
R105 — OUE’
@ ininF
3 & i
) /] 14 - S
97 X— O N O
5 L U

HMRV

127.5 160 155
== s 148
© 252.5 . T
3 170 ; /
nm; ‘i mn | bm /
IER ! A
8-M10X18 H— ——F———C 1z © —1= ‘\ﬁ -
I g - ‘_\ 2
2 Input bore N —H—f 8
y DNER 0 g
0| ® ML__
& i &)
Il ~
L .
& 14 84
115
144
HMRV. VS 195
\NV. VO 12
60 135
g8 M10X24 - — @42 H8 - ;,,,,,!,,l,,,,,,,,,,,,,,
- H g
o™
© Output bore
Q AL
Q
i Dm (H7)
Lan I_:‘s M | P [bm|tm| s :
(H8) 5 (7.5/10|15|20| 25|30 (40|50 |60 |80|100| Depth %
132B5 |©230|@265|@300| 10 [41.3|@13| - |38*[38*|38*|38*| - | - | - | - | - | - | - 80
100/112B5| 3180 |@215|@250| 8 |31.3({@13| — (28 (28 [ 28 (28|28 | 28| 28|28 |28| — - 60
90B5 |[@130|@165|@200| 8 |27.3|@11| - | - | = | = | - | 24|24 |24 |24 |24 | 24| 24 50
80B5 ©130|0165(200| 6 [(21.8|/011| - - - - - - - - - - 1191 19 40
Weight : 21kg Note:(*)Low profile key supplied by Haitec.
Hi o 21kg VRS R R AR B L BRI

18

19




® EEEEN e XN

\uHaltec R HMRVZZ HMRVZS &2 Haitec-GR

"\ [ —

Dimensions Dimensions

ST Rt

HRV HMRV

HRV.VS 1275 160
-] s 155
142 60 60 135 142 60 o 252.5 .
‘ ‘ . M10X24 . M10X24 | ‘ ) M10X24 2 0 - / T
L1 L1 L1 L1 "—-1 |
] ] ] \}\1 1\}\ | /
B _ al _ al T | N o
o 5 © e smioxis ||~ NU R £ S TS
-8 g 8§ S\ O 8% g
Q I — g
| | Y Input bore _1r s
y AL o 8
i i o 8
S )
-
. 14
50 15
144
Output shaft i i 4
324 249
M16X36 8:(')5 %‘85 M16X36 12 - 195 845 \16x36 -
. e HMRV. VS ;
_ © i .
© © 0 © . %/f////’”ﬂ@
N ﬁ i 60 135 -l. |=
8 3 2 M10x24 ‘ ‘ @42 Hs N
@ Q Q 8 *‘ \}\\ M}\ Lér)
glﬁg i Output bore
© i AL
[e0)
N
8
Output flange % Hi ¥ 2%
260X260 6
R140
PAM-IEC | N M P |lbmlt s Dm (H7)
&R AL | (H8) m| tm
T = 5 1|7.5/10 (15|20 |25| 30|40 |50 |60 |80 |100| Depth %
o
g 132B5 |(9230(90265|9300( 10 (41.3|014| — |38*|38*|38%|38*| — - - - - - - 80
100/112B5|2180|3215|03250| 8 |31.3|815| - | 28 (28|28 |28 (28 |28|28|28|28| - - 60
o T 90B5 2130(2165|0200( 8 |27.3|011| - - - - — |24 |24 |24 |24 |24 | 24 | 24 50
80B5 @130 Q2165|@200( 6 |21.8|011| - - - - - - - - - - 11919 40
Weight : 40kg Note:(*)Low profile key supplied by Haitec.
#Hi  40kg RS B A R S AR A

20 21




® EEEEN.

7 2% YN
'\_iiHaltec-GR HMRVZ %

Dimensions

NN

Dimens

N

ions

e XN
b4

HMRV

=

l‘\ L

Do

Haitec-GR®

HRV

142 60 60 135 142 60
— — M10X24 8 W‘ — i M10X24
© p © ©
: g
Q Q
Output shaft % ! %
324 249
84.5 155 84.5
M16X36 =g 4.5 \116x36
80 12 . M16X36
I'II//L'/////Z//L".’//Ml —
_ o |
g | ——

© © 2277 ©

i c 4 =

N N

: @ s @ s

Output flange % tH 7% 2%
131
15
6
260X260 \
R140 )

-
G

e

\
J170 H8

HMRV

130

147.5 180
170
s
© 292.5 1§2
© 200 ]
| bm
8M12X21 ] ] + oz s e @g o -GQQ*
| Dm S S \/
1 Input bore 3 o 2
AL - 3
o € | ©
5 d o
- Y
216 120
155
170
S ” 60_  60_
HMRV. VS 77 .
M10X24 _ 80 155 B45H8 I
8 ©
©
R =S Output bore
© i H AL
©
(a2}
)
_ Dm (H7)
PAMAEC | hey| M | P |bm|tm| s :
(H8) 7.5/10 | 15|20 |25 (30|40 |50 | 60|80 [100| Depth i%
132B5 |©@230|3265|(3300( 10 (41.3|015 38* |38* [38*|38* [38*|38*|38*| — - - 80
100/112B5| 9180|3215 |3250| 8 |31.3|015 - - - - | 2828|128 (28|28 28] 28 60
90B5 130|165 |3200| 8 |27.3|011 - - - - - - - - - |1 24| 24 50
Weight : 50kg Note:(*)Low profile key supplied by Haitec.
#HE : 50kg TERE VA AL B R

22

23




® EEEEN.

\uHaIteC GR HMRV'{‘ %

e XN

HMRV,— 7“ _\il-HaitEC'GR®

Ny e
Dimensions Dimensions
ST Rt
HRV S HMRV
170 210 200
162 80_ M10x24 M10x24 =89 185 162 80 M1ox24 J
e 8 e e 340 192
g ® 240 ] N
o) 1 b /
50 1 D fin ! m
: Tl e
2 ® 2 8-M12X22  [H=——rs +z s a -
8 S 8 T < | Dm c S o T\ f
: = N8g
k Input bore ] - ©
= LODNEIN = _ o
®
/ o & ooL S
S ®
£9) o
& [l |
) 145
Output shaft %t 4 185
340 265
M16X36 | 85 85 | M16X36 170 85 _| M16X36 200
80 7 80 14 80 14 725 725
- 2 = HMRV. VS
© © - e © - ]
© o S 80 175 @50 H8 ©
g L 2 M12X28 3
@ ® - :
%Iﬂg 1= Output bore
o e
o}
[s2]
)
Output flange % th % 2%
| FA
140
290X290 5
—_— 7
R160 ‘ /\7& OE;O—
N4 (I
: T
_ | o
| (o]
! | =
o of |
M Dm (H7)
PAM-IEC N
. M P \[bm|{tm | S
G AL | (H8) 7.5/10 (15|20 | 25|30 40| 50|60 | 80 [100| Depth i
160B5 |@250|@300|@350| 12 [45.3|@15 42 42 |42 42|42 - | - | - | -] - | - 110
132B5 |©230|@265|@300| 10 [41.3|@15 - | - | -|38|38|38|38|38|38]| - | - 80
100/112B5| 2180 |@215|@250| 8 |31.3|@15 - - |- -1-1-1-128|28]|28]28 60
Weight : 84kg
HE : 84kg

24

25




® EEEEN.

7 2% YN
'\_iiHaltec-GR HMRVZZS

Dimensions

NN

COVER Wi =

SMRV T-fe’}l [T 7 Haitec-GR

®

HRV

80

80

M12X28 o M12X28 M12X28
8
[32)
© I = ©,
0 3 0
8 S 8
Output shaft % i 4
374 297
M16X36 S 87 \1ex36 20087 \116x36
82 P 82 14 P 82
0
@ =T
© zetrs, ° g ©
o o o
w0 o] w
) ) )

Output flange i Hi 7% %

290X290

2180 H8

N2

030 42

040 50

050 58

063 69

075 74

|5 A 090 86

N 105 94

110 94

" 130 102

150 113

TORQUE ARM
e 10 B a
<
—
KG

K1 G KG KH R
025 70 14 17.5 8 15
030 85 14 24 8 15
040 100 14 31.5 10 18
050 100 14 38.5 10 18
063 150 14 49 10 18
075 200 25 47.5 20 30
090 200 25 57.5 20 30
105 250 30 62 25 35
110 250 30 62 25 35
130 250 30 69 25 35
150 250 30 84 25 35

26

27




28

m . ® I I _IE‘_ . ®
STsHaitecR gMRY = % SMRV Z %/ ST+ Haitec-GR
— 2 4 72N D —
8MRYV Mounting positions with motor Combine worm geared motor performance
8MRV 5 HLAL 1 22 e B 5 R B 2 4
B3 Q B8 V5
o L i [ ]
e[ 2] KO}
o— AN i “ 8RV/8MRV (n1=1400r/min)
‘ i Mz | 1| Pi(KW) | nz(r/min) Mz | 1 | Pi(KW) | nz(r/min)
73 [ 300 | 0.08 4.7 1100| 300| 0.9 4.7
‘ VB? o 65 | 400 | 0.06 3.5 1030/ 400| 0.7 3.5
61 | 500 | 0.04 2.8 1000 500| 0.6 2.8
73 | 600 | 0.04 2.3 1030 600| 0.5 2.3
73 | 750 | 0.04 1.9 1100| 750| 0.4 1.9
‘ 73 | 900 | 0.03 1.6 1100/ 900| 0.4 1.6
8RV030/040| 65 |1200| 0.02 1.2 8RV050/105( 1030/ 1200| 0.3 1.2
73 [1500| 0.02 0.9 1100|1500/ 0.3 0.93
‘ $ & 73 [1800| 0.02 0.8 1100{ 1800 0.2 0.78
Bl BRI TR 65 |2400 0.01 0.58 1030/2400| 0.2 0.58
65 | 3200 0.01 0.4 1000|3000/ 0.1 0.47
33 [4000| 0.01 0.4 780 | 4000/ 0.1 0.35
29 [5000| 0.01 0.28 7105000/ 0.1 0.28
POS.of terminal box
B ahE 145] 300 0.15 4.7 1265) 300 1.1 4.7
124 | 400 | 0.1 3.5 1185| 400| 0.8 3.5
1 1 120 | 500 | 0.09 2.8 1100| 500| 0.6 2.8
145| 600 | 0.08 2.3 1185| 600| 0.6 2.3
ﬂ:& 145|750 | 0.07 1.9 1265 750| 0.5 1.9
145|900 | 0.06 1.6 1265/ 900 | 0.4 1.6
8RV030/050] 124 [1200] 0.04 1.2 8RV050/110| 1185/ 1200] 0.3 1.2
145 [1500| 0.04 0.93 1265|1500/ 0.3 0.93
145(1800| 0.04 0.78 1265/ 1800| 0.3 0.78
3 3 124 |2400| 0.03 0.6 1185|2400/ 0.2 0.58
120 [3000| 0.02 0.5 1100|3000/ 0.1 0.47
82 [4000| 0.02 0.35 8194000/ 0.1 0.35
82 [4800| 0.02 0.29 746 | 5000/ 0.1 0.28
29




7 2% YN
ST 7 Haitec-G

® EEEEN.

RSMRV Z7%

8RV/8MRV (n+=1400r/min)

Combine worm geared motor size

ML R )

e XN

SMRV 77§7’:| [T 7 Haitec-GR

®

C1

G

8
i,

8MRV+8MRV

12

M2 | [P1(KW)[n2(r/min) M2 | [P1(KW)|n2(r/min)
230 | 300 | 0.24 4.7 1760 300 | 1.5 4.7
230 | 400 | 0.19 3.5 1650| 400 | 1.1 3.5
216 | 500 | 0.15 2.8 1550 500 | 0.9 2.8
230 | 600 | 0.13 2.3 1650 600 | 0.8 2.3
216 | 750 | 0.11 1.9 1760 750 | 0.7 1.9
198 | 900 | 0.09 1.6 1760 900 | 0.6 1.6
8RV030/063| 230 |(1200| 0.08 1.2 8RV063/130|1650| 1200/ 0.4 1.2
216 {1500 0.06 | 0.93 1760 1500| 0.4 0.93
198 {1800 0.05| 0.78 17601800, 0.3 0.78
230 {2400 0.05| 0.58 1650|2400, 0.3 0.58
216 {3000| 0.04 | 0.47 1550(3000| 0.2 0.47
172 14000 0.03 | 0.35 1220[{4000| 0.1 0.35
150 |5000| 0.02 | 0.28 1100|5000 0.1 0.28
390 | 300| 0.36 4.7 2340|150 | 3.4 9.3
360 | 400 | 0.27 3.5 2340| 200 | 2.7 7
320 | 500 | 0.21 2.8 2050| 250 | 1.9 5.6
390 | 600 | 0.19 2.3 2340| 300 | 1.9 4.7
390 | 750 | 0.16 1.9 2670| 400 | 1.8 3.5
390 | 900 | 0.14 1.6 2330 500 | 1.4 2.8
8RV040/075| 390 | 1200| 0.11 1.2 2670 600 | 1.3 2.3
390 | 1500| 0.1 0.93 8RV063/150|2330| 750 | 1.0 1.9
390 | 1800/ 0.09 | 0.78 2100| 900 | 0.7 1.6
360 | 2400/ 0.07 | 0.58 2670|1200 0.7 1.2
320 | 3000{ 0.05 | 0.47 2100/1800| 0.4 0.8
250 | 4000| 0.04 | 0.35 2670|2400| 0.5 0.6
230 | 5000/ 0.03 | 0.28 2330|3000 0.3 0.5
1880({4000| 0.2 0.4
610 | 300 | 0.6 4.7 1650/ 5000| 0.2 0.3
610|400 | 0.4 3.5
560 | 500 | 0.3 2.8
610 | 600 | 0.3 2.3
560 | 750 | 0.2 1.9
505|900 | 0.2 1.6
8RV040/090| 610[1200| 0.2 1.2
560 |1500| 0.1 0.93
505 |1800| 0.1 0.78
610 [2400| 0.1 0.58
560 | 3000| 0.1 0.47
460 {4000| 0.1 0.35
410 |5000| 0.1 0.28

- X m

ﬂ%@

8RV+t8MRV

30

31




7 2% YN
ST 7 Haitec-G

® EEEEN.

RSMRV Z7%

e XN ®

SMRV 77§7’:| [T 7 Haitec-GR

Combine mounting positions with motor
ML A5 B B 22 3% 7 3K

8MRV Dimensions

8M+RV A | B | C1|D(H8)|d(j6)| E FIG| Gl | G2 | H [HI[ I |1 [12] L | M][NH8) N1
025-030| 54 | - (70| 14 | - | 97 |32 (45|63 | - | 40 [35| - |25(30|56 | 65| 55 |58
025-040| 70 | - |70| 18 | - |[121.5(43 |45|78 | - | 50 35| - |25(40|71 | 75| 60 |73
030-040| 70 |20 [80| 18 | 9 [121.5/43 |55|78 | 51 | 50 |40|10|30|40| 71 |75| 60 |73
030-050| 80 |20 (80| 25 | 9 | 144 |49 |55| 92 | 51 | 60 |40|20|30|50|85 |85| 70 |87
030-063(100( 20 (80| 25 | 9 | 174 |67 |55|112 | 51 | 72 |40|33|30|63|{103| 95| 80 [106
040-075|120| 23 [100| 28 | 11 | 205 |72 |70 120 | 60 | 86 | 50| 35| 40|75(112[115 95 [114
040-090|140| 23 [100| 35 | 11 | 238 | 74 |70 |140 | 60 | 103 | 50|50 | 40 |90|130[130| 110 [134
050-105(170| 30 [120| 42 | 14 | 295 | = |80 |155 | 74 |127.5| 60| 60 | 50 [110{144 [165| 130 |148
050-110(170| 30 [120| 42 | 14 | 295 | — |80 |155 | 74 |127.5| 60| 60 | 50 [110{144 [165| 130 [148
063-130|200| 40 [144| 45 | 19 | 335 | — |95|170 | 90 |147.5| 72|67 | 63 [130/155|215| 180 [162)
063-150(240| 40 [144| 50 | 19 | 400 | = |95 |200 | 90 | 170 | 72|87 | 63 [150{185 [215| 180 [192
8MRV Dimensions

8M+RVN20PQRR1SVZZ1K KE |a|b|t]|bo|to] f
025-030(22.5(6.5| 75| 44 | 57 | 48 | 5.5/ 27100 | 40 | 44 | M6x11|0°| 5 [163 - | - | -
025-040(22.5/6.5| 87| 55 | 71.5| 48 | 6.5/ 35| 115| 50 | 60 | M6x8 [45° 6 [208 - | - | =
030-040| 29 |6.5| 87| 55 | 71.5| 57 | 6.5/35|122| 50 | 60 | M6x8 [45° 6 [208 3 [10.2] -
030-050| 29 [8.5(100| 64 | 84 | 57 | 7 | 40| 132| 60 | 70 | M8x10 [45°| 8 [283 3 [10.2] -
030-063| 29 [8.5(110] 80 | 102| 57 | 8 | 50| 145| 72 | 85 | M8x14 |45°| 8 |283| 3 [10.2| -
040-075(36.5(11.5(140| 93 | 119| 71.5| 10| 60 |167.5| 86 | 90 | M8x14 [45° 8 |31.3 4 [12.5] -
040-090(36.5| 13 [160| 102| 135| 71.5| 11| 70|184.5 103 | 100 |M10x18|45° 10 [383 4 |12.5] -
050-105(43.5| 14 |200| 125|167.5 84 [14.5/ 85| 226 [127.5| 115 |[M10x18|45°| 12 [453 5 | 16 | M6
050-110|43.5| 14 [200| 125|167.5 84 [14.5 85| 226 [127.5| 115 |M10x18|45°| 12 [453 5 | 16 | M6
063-130| 53 | 16 [250| 140|187.5 102 [15.5/100| 245 [147.5| 120 | M12x21|45°| 14 [48.8 6 [21.5| M6
063-150| 53 | 18 |250| 180| 230 | 102 | 18 [120| 275 | 170 | 145 | M12x21|45°| 14 |538 6 |21.5| M6

32

33




=\_§,=Haitec-GR ‘SHHER+

i FH i B

TN ] AR AT AT, VRS LT R, DU ORIERAAEH .

A

1. R BERTIRA ST AT 4 AL AR, Heitt 7 T4 T SRRt DU B et 7
2. fhoEst: 25, 30, 40. 50. 63, 75. 90. 105. 110. 130. 150%%l.

ML ZS): 5. 7.5. 10. 15. 20. 25. 30. 40. 50. 60. 80. 100.

9\ ﬁ%

. TR AN T-1500 r/min.

\ SRR RAT TR, (TR

YR, ROTRANDIR. B S A SRR, A B AR T, 3 S TN F.

o TR A 20, TR [ TR R T ] E RS 3.

« BFIUSESR I B R, R, DERES. B TTRAMESILEE R, T ERE T, IR
S BRI LA

6. 2 ERTEA, VAUMERE. TR,

7. EEHSEEEINE, W KREERG, TR, TR, AR, TR,

:;i@@’

\ TR IEREERAE N -10°C~60°C, TEFREHRAHIETO'CHY, FRAIATEAZINAE]0°C LA LR B 2 e i
Z\HE%WHﬁL%H TS 2 L MR B TR AR, BSGIEAT TR 7 BRB 2

3. 1T BT (4~ RS, WSR2 AR, AR B St T B T sk ek
BV SHERY R .

A, EA SRS, N I A TER T Y -

5. 258 210000/ T A G E . AR TAER N, S sk T % i TSR SR AT E R e,
6. KTV HIER RS, R A, s,

=, 4P

1. AEE ARSI, LRBUE.

2 SRR BT 2B, R, (LR EER T IR . BPERERISR, SOCESHURE, HERas, JrmTakss(ifi.

U'I-BQ)I\J—\

VSRR 32 PR B RIAL TR U
4\Fﬁﬁaﬁmkﬂm#mﬁﬁﬁﬁl Ee
FHE 17 3
8MRV110~150 8MRV025~105
RNz BRLH
TC (-5) ~(+40) (-15) ~(+25) (-25) ~(+50)
ISOVG ISO VG460 ISO VG220 ISO VG320
AGIP BLASIA 460 BLASIA 220 TELIUM VSF320
SHELL OMALA 0lIL460 OMALA 0OlL220 TIVELA OIL SC320
ESSO SPARTAN EP460 SPARTAN EP220 S220
MOBIL MOBIL GEAR634 MOBIL GEAR630 GLYGOYLE 320
CASTROL ALPHA MAX460 ALPHA MAX220 ALPHASYN PG320
BP ENERGOL GR-XP460 ENERGOL GR-XP220 ENERGOL SG-XP320
e (AL T
8MRV 025 030 040 050 063 075 090 105 110 130 150
B3 3 4.5 7
B8 2.2 3.3 5.1
B6-B7 | 0.02 0. 04 0.08 0.15 0.3 0.55 1 1.6 2.5 3.5 5.4
V5 3 4.5 7
V6 2.2 3.3 5.1

L B £

‘SEFNEE T \uHaItEC GR

User's Manual

Thank you very much to choose our company’s products. Before using, please carefully read the following instructions,
and ensure the right operations about it.

Types:

1. Worm gear reducer can be classified as flange input and shaftinput by input way, and be classified as hollow shaft
output, single shaft output, double shaft output and so on by output way.

2. Size series: 25, 30. 40. 50. 63. 75. 90. 105. 110. 130. 150.
Reduction ratio series (Single) : 5. 7.5, 10. 15, 20. 25. 30. 40. 50. 60. 80. 100.

Installation:

1. Suggest the rotate speed of worm less than 1500r/min.

2. The mounting on the machine must be stable and avoid any vibration.

3. Check the correctinput efficiency, speed of rotation and output torque according to unit nameplate, and the
same direction of rotation of the reduction unit output shaft before fitting the unit to the machine.

4. For a shaft mounting, for reduction unit with a hollow output shaft, make sure that the constraint is axially free and with
such play as to ensure free movement for the reduction unit.

5. The various parts ( pulleys, gear wheels, couplings, shafts, etc.) must be mounted on the solid or hollow
shafts using special threaded holes or other systems that anyhow ensure correct operation units. Lubrication the
surfaces in contact to avoid seizure or oxidation.

6. After mounting, rotating shaft by hand must be agility and no lock.

7. Staring must take place gradually , without immediately applying the maximum load, and ensure stable, no noise,
no loosen, no leaking oil and so on in rotation.

Lubrication:

1. Enviroment temperature of unit is —10°C~60C . Inthe case of temperatures under0C, itis necessaryto heat up
lubrication over 0°C or use low freezing oil before operation.

2. During the early stages of service, problem of lubrication may arise due to the high level of viscosity taken on by the
oiland soitis wise to have a few minutes of rotation under no load.

3. In the case of particularly lengthy period of storage (4~6 months), if the oil seal is notimmersed in the lubricant inside
the unit, itis recommended to change it since the rubber could stick to the shaft or may even have lost the elasticity it needs
to function properly.

4. Check the correct level of the lubricant through the indicator, if there is one.

5. The oil needs to be changed after approximately 10000 hours. This period depends on the type of service and the
environment where this reduction unit works.

6. For units supplied without oil plugs, lubrication is permanent and so they need no servicing.

Maintain:

1. Avoid to hit the shell of the reduction unit by gravitational hammer to protect it.

2. Check the correct state of installation basis, oil seals, input / output shaft and so on in the same period.
Otherwise, it is necessary to stop reduction unit and get rid of matter, then go on work.

3. Whenever possible, protect the reduction unit against solar radiation and bad weather.

4. Ensure the motor cools correctly by assuring good passage of air from the fan side.

Recommendation of lubricant brand:

8MRV110~150 8MRV025~105
Mineral oil Synthetic oil
TC (-5) ~(+40) (-15) ~(+25) (-25) ~(+50)
ISOVG ISO VG460 ISO VG220 ISO VG320
AGIP BLASIA 460 BLASIA 220 TELIUM VSF320
SHELL OMALA 0OIL460 OMALA QOlIL220 TIVELA OIL SC320
ESSO SPARTAN EP460 SPARTAN EP220 S220
MOBIL MOBIL GEAR634 MOBIL GEAR630 GLYGOYLE 320
CASTROL ALPHA MAX460 ALPHA MAX220 ALPHASYN PG320
BP ENERGOL GR-XP460 ENERGOL GR-XP220 ENERGOL SG-XP320
The quantity of oil: (liter)
8MRV 025 030 040 050 063 075 090 105 110 130 150
B3 3 4.5 7
B8 2.2 3.3 5.1
B6-B7 | 0.02 | 0.04 0.08 [ 0.15| 0.3 | 0.55 1 1.6 2.5 3.5 5.4
V5 3 4.5 7
V6 2.2 3.3 5.1

34

35




. m X ®
¥~ Haitec-GR

RTRBLIEI Y
[ —

—. EE~m
1. YY. YC, YL, YSEFUE, =R

2. YEIRSI=1H. EREE1SLSEM

—. SR EiNESEGiRE
YS - 80M2 - 4 - BS
-I_—EEI,HLE%"ZEEHEE/InstaIIation of Motor

28 /Poles

HEEE/MAchine Base Number

Z5{r3/Series Code

ZHRSANNKRESY

>

6P 8 P

2P 4P
750%%

LR 2
[E] 25 %% & 3000%% 1500%% 1000%%

36




;i © m—— p— o X ®
I~ Haitec-GR = A=A B NI Haitec-GR
— —

YSHHEERT RARSE YSEEIRART RS

Sereis YS Die Casting Aluminum Technical Parameters Sereis YS Die Casting Aluminum Technical Parameters

. YSRII=RBRLEIIIARSE
1. YS series Three-phase asynchronous motor parameters
*x2/Table 2

BEE

(Kw) EERR (A)

(COS®D)

EEMR

F1/Table 1

1E5EEEsE EALEIE
ERIE ERIE

R P Locked R
Type Rated Power | Rated Current |Rated Efficien ated Power ocked Roto
Factor Rated Current
0.8 5.5

YS-63M1-2 0.18 0.51
YS-63M2-2 0.25 0.67 68
YS-71M1-2 0.37 0.98 70
YS-71M2-2 0.55 1.33 73
YS-80M1-2 0.75 178 75
YS-80M2-2 11 2.49 77
YE2-90L2 15 3.34 79
YE2-100L-2 2.2 4.69 81
YE2-112M-2 3 6.14 83
YE2-132S1-2 4 7.83 84
YE2-132S2-2 5.5 10.7 85
YE2-160M1-2 7.5 14.2 86
YE2-160M2-2 11 20.9 88
YE2-160L-2 15 27 89
YE2-180M-2 18.5 33.9 20
YE2-200L1-2 22 40.5 20
YE2-200L2-2 30 54.8 91.2
YE2-225M-2 37 66.6 92
YE2-250M-2 45 81 92.5
YE2-280S-2 55 99.6 92.8
YE2-280M-2 75 1333 93.5
YE2-315S-2 20 158.2 93.8
YE2-315M-2 110 195.1 94
YE2-315L1-2 132 231.6 94.5
YE2-315L-2 160 279.6 94.6

0.81
0.81
0.82
0.83
0.85
0.85
0.86
0.87
0.88
0.88
0.88
0.89
0.89
0.9
0.9
0.9
0.9
0.9
0.9
0.91
0.91
0.91
0.91
0.92

5.8
6.1
6.4
6.7
7
7.2
7.6
7.7
7.8
8
7.4
7.7
7.9
8
8
7.4
7.6
7.6
7.6
7.7
7.7
7.1
7.1
7.2

cked Torque | Max Torque
RatedTorque | Rated Torque
2.2 2.2

2.2 2.2
2.2 2.2
2.2 23
2.2 2.3
2.2 23
2.2 2.3
2.2 23
2.2 23
2.2 2.3
2.2 23
2.2 23
2.2 2.3
2.2 23
2.2 23

2 2.3

2 23

2 23

2 2.3

2 23

2 23

2 2.3
18 2.2
18 2.2
1.8 2.2

Type
YS-63M1-4
YS-63M2-4
YS-71M1-4
YS-71M2-4
YS-80M1-4
YS-80M2-4
YE2-90S-4
YE2-90L-4
YE2-100L1-4
YE2-100L2-4
YE2-112M-4
YE2-132S-4
YE2-132M-4
YE2-160M-4
YE2-160L-4
YE2-180M-4
YE2-180L-4
YE2-200L-4
YE2-225S-4
YE2-225M-4
YE2-250M-4
YE2-280S-4
YE2-280M-4
YE2-315S-4
YE2-315M-4
YE2-315L1-4
YE2-315L2-4

0.12
0.18
0.25
0.37
0.55
0.75
1.1
1.5
2.2
3
4
5.5
7.5
11
15
18.5
22
30
37
45
55
75
20
110
132
160
200

BERR (A)

Rated Current

0.43
0.61
0.76
1.07
1.54
1.99
2.8
3.65
5.05
6.64
8.68
11.5
153
22.2
29.8
36.1
42.6
57.5
69.6
84
102.9
138
165.6
200.2
239.1
288
358.9

BEFPNBHEMER , aEHTREIE,

If the client has other requirement , the manufacture can be done according to the order.

BIEERE b2 d: b jiiiiil EXEEE
(COs®) BER R BEE ]

Rated Power Locked Rotor | Locked Torque | Max que
Factor ted Curren tedTorque | Rated e
2 2.2

0.72
60 0.73 6 2 2.2
65 0.74 6 2 2.2
67 0.75 6 2 2.2
71 0.75 6 24 23
73 0.77 6.5 24 2.3
75 0.79 6.5 2.3 2.3
78 0.79 6.5 2.3 2.3
80 0.81 7 2.3 2.3
82 0.82 7 2.3 23
84 0.82 7 23 23
85 0.84 7 23 23
87 0.84 7 23 23
88 0.85 7 2.2 2.3
89 0.85 7.5 2.2 2.3
90.7 0.85 7.5 2.2 2.3
91.2 0.85 7.5 2.2 2.3
92 0.86 7.2 2.2 23
92.5 0.87 7.2 2.2 23
93 0.87 7.2 2.2 23
93.2 0.87 7.2 2.2 23
94 0.87 7.2 2.2 2.3
94.2 0.87 7.2 2.2 2.3
94.5 0.88 6.9 2.1 2.2
94.8 0.88 6.9 2.1 2.2
94.9 0.89 6.9 2.1 2.2
95.2 0.89 6.9 2.1 2.2

37

38




y @+ © m—— el @9 . ®
- = = - + TIN5 = =5~ -
Y/ Haltec R ZEmBHmi S 1=P7 .5 Haitec-GR
— —
YSEREERT RARSE YSERRRT RS
Sereis YS Die Casting Aluminum Technical Parameters Sereis YS Die Casting Aluminum Technical Parameters
*3/Table 3 *4/Table 4

mENE |,

YS-71M1-6
YS-71M2-6
YS-80M1-6
YS-80M2-6
YE2-90S-6
YE2-90L-6
YE2-100L-6
YE2-112M-6
YE2-132S-6
YE2-132M1-6
YE2-132M2-6
YE2-160M-6
YE2-160L-6
YE2-180L-6
YE2-200L1-6
YE2-200L2-6
YE2-225M-6
YE2-250M-6
YE2-280S-6
YE2-280M-6
YE2-315S-6
YE2-315M-6
YE2-315L1-6
YE2-315L2-6

0.18
0.25
0.37
0.55
0.75
11
15
2.2

18.5
22
30
37
45
55
75
90

110

132

EFMBHEMEX , TEITHHIE.

0.71
0.92
1.27
1.74
2.23
3.1
3.89
5.46
7.1
9.3
12.3
16.7
23.6
30.7
37.7
44.1
58.4
70.4
85.4
103.3
140.2
167
202.3
2423

" 160HLEELL ESh5SERtR

If the client has other requirement , the manufacture can be done according to the order.

More than 160 shell of cast iron machine base.

59
62
65
70
73
76
79
81
83
84
86
87
89
90
90.5
91.5
92
92.5
92.8
93.5
93.6
94
94.2

HE=E
(COsD)

0.66
0.68
0.7
0.72
0.72
0.73
0.76
0.76
0.76
0.76
0.77
0.78
0.79
0.81
0.82
0.83
0.85
0.86
0.86
0.86
0.86
0.86
0.86
0.87

ﬁmiﬁ%ﬁ ﬁzEE'?%E

Rated P Locked Rotor
Rated Power | Rated Current |Rated Efficiency

4.6
4.8
5.1
5.6
5.7
6.1
6.3
6.5
6.7
7
6.6
6.7
7.1
7.2
7.5
71
7.2
7.2
7.3
74
74
6.8
6.8

Rated Torque
1.9 2
19 2
19 2
19 2.1
21 21
2.1 21
2.2 21
2.2 2.1
2.2 2.1
2.2 2.1
2.2 2.1
1.8 2.1
19 2.1
21 21
2.1 2.1
21 21
2.1 2.1
2.1 2.1
21 2
2.1 2

2 2
2 2
2 2
2 2

EIE
.
(Kw)

Rated P Locked R
Rated Efficiency at::Ct::ver R:tce: c<|2ur(:ent

YS-80M1-8 0.18
YS-80M2-8 0.25
YE2-90S-8 0.37
YE2-90L-8 0.55
YE2-100L1-8 0.75
YE2-100L2-8 11
YE2-112M-8 15
YE2-132S-8 2.2
YE2-132M-8 3
YE2-160M1-8 4
YE2-160M2-8 5
YE2-160L-8 1.5
YE2-180L-8 11
YE2-200L-8 15
YE2-225S-8 18.5
YE2-225M-8 22
YE2-250M-8 30
YE2-280S-8 37
YE2-280M-8 45
YE2-315S-8 55
YE2-315M-8 75
YE2-315L1-8 90
YE2-315L2-8 110

EFMBEMMER , TTREIE

If the client has other requirement , the manufacture can be done according to the order.

0.86
114 54
1.47 63
2.1 64
234 70
3.22 72
4.41 75
6 78
7.6 79
10 81
133 83
17.8 85
24.9 87
33.3 88
40.1 90
46.8 90.5
63 90
76.2 91
92.5 92
110.4 92.8
148.1 93
177.6 93.8
215.8 94
" 1604LEELA LhSthek

More than 160 shell of cast iron machine base.

BENRES
(COSP)

0.61
0.61
0.61
0.62
0.67
0.68
0.68
0.71
0.73
0.73
0.74
0.75
0.76
0.76
0.77
0.78
0.79

0.8

0.8
0.81
0.81
0.82
0.82

s
B

3.6
44
4.7
5
53
55
5.8
5.9
6.2
6.5
6.3
6.6
6.7
6.8
7
6.6
6.7
6.9
6.9
7
7.1
6.4

1HEEEEEE B
HiEE HiEsiE

Locked Torque | Max Torque
RatedTorque | Rated Torque
17 1.9

17
17
17
18
18
18
18
18
1.9
19
1.9
19
1.9
19
19
19
19
19
18
18
18
18

19
19

39

40




!E‘_ . ® I
SIS Haitec-CR T B3
|
YSEEEERT SR LR
erej Die Casting Aluminum nstallation Dimension

—. YSEI=RBRSHEINIMEIRLZERT

2. YS series Three-phase asynchronous motor appearance and installation dimensions

B14

L
F
E
g\
— ‘
] = ! i
[T 17 0
o - = - =
I i [ — < 1
I
I
1 I I I I
)
| D
T
-
L
p— "
—
—] ‘
PN ‘
f I
— PR o
Nl A =— e :
I
[ — ‘
T f %77‘\» D
K
E|_C B
HNES SMBURZEERT  Installation Dimensions
| MachineBaseNo. | A [ B ] c [DJ]EJFJ]G[H]K ][I M [ N P [ s | T [AB] AC [HD[HF] L |
63M 100 80 40 211 23 4 8.5 63 o7 75/115 60/95 90/140 M5/210
71M 112 20 45 236 30 5 11 71 27 85/130 70/110 105/160 M6/210
80M 125 100 50 219 40 6 15.5 80 210 100/165 80/130 120/200 M6/212
90S 140 100 56 224 50 8 20 90 210 115/165 95/130 140/200 M8/212
90L 140 125 56 224 50 8 20 920 210 115/165 95/130 140/200 M8/912
100L 160 140 63 228 60 8 24 100 @12 130/215 110/180 160/250 M8/215
112M 190 140 70 228 60 8 24 112 @12 130/215 110/180 160/250 M8/215
132S 216 140 89 238 80 10 33 132 ol12 265 230 300 15
132M 216 178 89 238 80 10 33 132 ol12 265 230 300 15

UbHMBUE R 2R R T R FEaH .
FPE /7 S, RESFABURERT , SBHBSEERYT.

Such overall and installation dimensions apply to the motor with alunminum cylinder .
The table with "/"symbol ,molecular size for the B14 installation ,the denominator for B5 mounting dimensions.

25
35
35
35
35

4
4
4
4

115
136
154
180
180
205
222
280
280

120X120
130X130
145X145
177X177
177X177
197X197
221X221
263X263
263X263

171
176
190
216
216
236
258
296
296

178
185
210
206
206
261
270
313
313

205
238
265
280
280
348
361
482
512

—— -
/\sﬂg?b-

> L
YSEEEREY MUK IR
erei Die Casting Aluminum nstallation Dimension

B5

=

-G8 - w
e i
o z| -1 em—m——= N N |
L [T 11 D
B35 ]
I F
L
— I !
M o TRy - ©
oZ | = I . < \
] L 1]
T D
K
E| C B

HBREERT

}_g;} UY Sy

Installation Dimensions

Haitec-GR®

[_MachineBaseNo._| _A_[ B [ c [ D [ E [ F [ G H K[ M [ N_[ P [ s [ T [ABJ AC_[HD [ HF [ L |

63M 100 80 40 oll 23 4 8.5 63 @7 75/115 60/95 90/140
71M 112 920 45 536 30 5 11 71 @7 85/130 70/110 105/160
80M 125 100 50 219 40 6 155 80 210 100/165 80/130 120/200
90S 140 100 56 224 50 8 20 90 210 115/165 95/130 140/200
0L 140 125 56 224 50 8 20 20 210 115/165 95/130 140/200
100L 160 140 63 228 60 8 24 100 @12 130/215 110/180 160/250
112M 190 140 70 228 60 8 24 112 @12 130/215 110/180 160/250
132s 216 140 89 238 80 10 33 132  ¢l12 265 230 300

132M 216 178 89 238 80 10 33 132  gl12 265 230 300

IbSMREIRFRR T AT RSB
F=HE /" M, FROFHBIARERT , HEBABSEERT,

Such overall and installation dimensions apply to the motor with alunminum cylinder .
The table with "/"symbol ,molecular size for the B14 installation ,the denominator for B5 mounting dimensions.

M5/210
M6/210
M6/212
M8/212
M8/g12
M8/e15
M8/g15

15

15

2.5
35
35
35
35

~ A b b

115
136
154
180
180
205
222
280
280

120X120
130X130
145X145
177X177
177X177
197X197
221X221
263X263
263X263

171
176
190
216
216
236
258
296
296

178
185
210
206
206
261
270
313
313

205
238
265
280
280
348
361
482
512

41

42




-ﬂ-ﬂ-l---ﬂnﬂ--lﬂl

160M 210 12 37 160 250
160L 254 254 108 @42 110 12 37 160 915 300 250
180M 279 241 121 @48 110 14 42.5 180 @15 300 250
180L 279 279 121 @48 110 14 42.5 180 @15 300 250
200L 318 305 133 @55 110 16 49 200 @19 350 300

2255 4P, 8P 356 286 149 @60 140 18 53 225 @19 400 350
225M 2P 356 311 149 @55 110 16 49 225 019 400 350
225M 4P, 6P, 8P 356 311 149 @60 140 18 53 225 @19 400 350
250M 2P 406 349 168 @60 140 18 53 250 @24 500 450
250M 4P, 6P, 8P 406 349 168 @65 140 18 58 250 @24 500 450
2808 2P 457 368 190 @65 140 18 58 280 @24 500 450
280S 4P, 6P, 8P 457 368 190 @75 140 20 67.5 280 @24 500 450
280M 2P 457 419 190 @65 140 18 58 280 @24 500 450
280M 4P, 6P, 8P 457 419 190 @75 140 20 67.5 280 @24 500 450
3158 2P 508 406 216 @65 140 18 58 315 ©28 600 550
3155 4P, 6P, 8P 508 406 216 @80 170 22 71 315 @28 600 550
315M 2P 508 457 216 @65 140 18 58 315 @28 600 550
315M 4P, 6P. 8P 508 457 216 @80 170 22 71 315 @28 600 550
315L 2P 508 508 216 @65 140 18 58 315 @28 600 550
315L 4P, 6P. 8P 508 508 216 680 170 22 71 315 @28 600 550

i Sh B R 23 R T R T ekl m il

*Such overall and installation dimensions apply to the motor with cast iron cylinder.

350
350
350
400
450
450
450
550
550
550
550
550
550
660
660
660
660
660
660

a19

019
@19
p19
@19
@19
@19
219
@19
a19
@19

919

@19
919

924

924
924
024
924

024

(< N~ O S~ M- S~ S S T TR NS TS, S TS "= P B R B |

320
355
355
395
435
435
435
490
490
550

550

550
550
635
635
635
635
635
635

330
380

380
420

470

470
470
510
510
580
580
580
580
645

645

645

420
455
455
505
560
560
560
615
615
680
680
680
680
845
845
845

845
845

385
430
430
480
535
535
535
595
595
650
650
650
650

670
700
740
770
815
820
845
910
910
985
985
1035
1035
1160
1270
1190
1300
1190
1300

BEINE

HEHIE
B E e 4B

m R ® I L I 2% \ R ®
-_ e . - _._z* 3= e _._:* 1= -_ e . -
SIS HaiteC-R T e AP =P <5 Haitec-GR
— —
YSE5ER AT NI R LA R~ MEX] . BRESH
Sereis YS Die Casting Aluminum Installation Dimensions Sereis YL Technical Parameters
=, SUSHBESHEAVNB R RERS M, BERFENRTIEHERSEINN220V/50HZ
3. Three—phase asynchronous motor appearance and installation dimensions 4. Single Phase Capacitor Start and Run Asynchronous Motor 220V/50Hz
| g
L—*—?—
EIGl B
L
ot i
HES SpEI R 23R~ Installation Dimensions
F1/Table 1

Rated Power Rated Current | Rated Efficiency | Rated Power Factor | Locked Rotor L;:gedd%%quu: Rhg?exdT-%ﬂé":e

YL71M1-2
YL71M2-2
YL8OM1-2
YL80M2-2
YL90S-2
YL90L-2
YL100L-2
YL71M1-4
YL71M2-4
YL8OM1-4
YL80M2-4
YL90S-4
YLOOL—4
YL100L1-4
YL100L2-4

0.37
0.55
0.75
1.1
1.5
22
3
0.25
0.37
0.55
0.75
1.1
1.5
22
3.0

272
3.88
5.156
7.01
9.44
13.7
18.2
1.99
2.8
4.0
3.94
522
9.57
13.85
18.64

67.0
70.0
72.0
75.0
76.0
77.0
79.0
62.0
65.0
68.0
71.0
73.0
75.0
76.0
77.0

0.92
0.92
0.92
0.95
0.95
0.95
0.95
0.92
0.92
0.92
0.92
0.95
0.95
0.95
0.95

21
29
40
55
80
110
12
16
21
29
40
55
80
110

1.8
1.8
1.8
1.7
1.7
1.7
1.8
1.8
1.8
1.8
1.7
1.7
1.7
1.7

1.7
1.7
1.7
1.7
1.7
1.7
1.7
1.7
1.7
1.7
1.7
1.7
1.7
1.7

43

44




l ® I L _’E‘_ > @
Y /s Haltec R ZEmBHmi DimB R E I NIS Haitec-GR
[ ] [ ]
YYZF HARSH YC &7l HARSH
SereisYY Technical Parameters Sereis YC Technical Parameters

. BEHRFEE RS EIHP220V/50HZ 7N, BHBERENFSEII220V/50HZ
6

Y
5. Single Phase Capacitor Run Asynchronous Motor 220V/50HZ . Single Phase Capacitor Start Asynchronous Motor 220V/50HZ

F&2/Table 2 *&R2/Table 2

HEDR | SRR e Eyesks (| ERRE | BARE Ve ZRH% d(| EREE | RARE
(Kw) PMERE | MERE WERkE | SiERE

Locked Torque Max T

YY63M1-2 0.1 3 5.0 0.9 5.0 0.4 2 YC71M1-2
YC71M2-2 0.25 24 64.0 0.74 15 3.0 1.8

YY63M22 0.25 1.87 66.0 0.92 7.0 0.4 1.7
YC80M1-2 0.37 3.36 65.0 0.77 21 28 1.8

YY71M1-2 0.37 0.73 67.0 0.92 10 0.35 1.7
YC80M2-2 0.55 465 68.0 0.79 29 2.8 1.8
YY71M2-2 0.55 3.88 70.0 0.92 15 0.35 1.7 YC90S-2 0.42 6.1 70.0 0.80 37 25 1.8
YY80M1-2 0.75 5.15 72.0 0.92 20 0.33 1.7 YC90L-2 1.1 8.68 72.0 0.80 60 25 1.8
YC100L1-2 1.5 11.4 74.0 0.81 80 25 1.8

YY80M2-2 1.1 7.0 75.0 0.95 30 0.33 1.7
YC100L2-2 22 16.5 75.0 0.81 120 22 1.8

YY90S-2 15 9.44 76.0 0.95 45 0.30 4.7
YC112M-2 3 21.9 76.0 0.82 150 22 1.8
YY90L-2 22 13.7 77.0 0.95 65 0.30 1.7 YC1325-2 37 26.6 77.0 0.82 175 22 1.8
YYB3M1—4 042 1.04 57.0 0.92 3.5 0.40 17 YC71M1-4 0.12 1.88 50.0 0.58 9.0 3.0 1.8
YC71M2-4 0.18 2.49 53.0 0.62 12 28 1.8

YY63M2-4 0.18 15 59.0 0.92 5.0 0.40 1.7
YC80M1-4 0.25 3.11 58.0 0.63 15 28 1.8

YY71M1-4 0.25 2.0 61.0 0.92 7.0 0.35 1.7
YC80M2-4 0.37 4.24 62.0 0.64 21 25 1.8
YY71M2-4 0.37 295 62.0 0.92 10 0.35 1.7 YC90S—-4 0.55 5.5 66.0 0.69 29 25 1.8
YY80M1-4 0.55 4.25 64.0 0.92 15 0.35 1.7 YC90L—4 0.75 6.87 68.0 0.73 37 2.5 18
YC100L—-4 1.1 9.52 71.0 0.74 60 25 1.8

YY80M2-4 0.75 5.45 68.0 0.92 20 0.32 1.7
YC100L2-4 15 125 73.0 0.75 80 25 1.8

YY90S—4 1.1 7.4 71. ; 32 1.7
e : D43 s b YC112M-4 22 17.8 74.0 0.78 120 2.2 1.8
YY90L—4 15 9.83 73.0 0.95 45 0.30 17 YC1325-4 3 23.6 75.0 0.77 150 22 1.8
YC132M-4 4 28.0 76.0 0.79 175 Do 1.8

45 46




y % ® I —!E‘_ > ®
LY .t ..._:* ak= &7 -_—" e - -
[T Haitec-GR s b 24 2B ey NI Haitec-GR
—— ——
YS. YC. YLR%! NIRRT YS. YC. YLZEZ MR TR R~
Sereis YS. YC._ YL Installation Dimensions Sereis YS. YC. YL Installation Dimensions

. YY. YC YLRFISRERLEIIMEIR LRRT

2. YSseries YY,YC,YL Single-phase asynchronous motor appearance and installation dimensions

B14 B5
L
= F
L
F L
E, /A D | L 1
| === ; ) e TR
I
0 A o I R I e O s 9 |
Q| = | |— | < ‘ <
| ] T 11 D
T Tr 1T
\
| D
—><l
B34 B35 L
L T F
L
ANAS
|| O - : I o
oZ 1 || — . <
] T 11
© [®)
F D
K
E| C B
SN ZIEERSF  Installation Dimensions
PEFSERT netelelon imensions -ﬂ.ﬂll..l““ﬂ-l.
Base No.
Machine
-ﬂ-ﬂﬂl---“““-.- T T T F—
100 @11 4 8.5 63 @7 75/115 60/95 90/140 M54910 2.5 115 120X120 171 178 255 71M 112 90 45 @14 30 5 11 71 @7 85/130 70/110 105/160 MeM10 3.5 136 130X130 176 185 288
7™M 112 90 45 @14 30 5 11 71 @7 85/130 70/110 105/160 M6/910 3.5 136 130X130 176 185 288 S0M 125 100 50 @19 40 6 15.5 80 ©10 100/165 80/130 120/200 Me/12 3.5 154 145X 145 190 210 315
ki 125 100 50 @19 40 6 15.5 80 @10 100/165 807130 120/200 W6QI2 3.5 164 145X145 190 210 318 905 140 100 56 @24 50 8 20 90 @10 115/165 95/130 140/200 M8/A¥12 3.5 180 177X177 216 206 330
S 0 108 000 oan i ) oo | 0 JE G VYL e B R I (000 0 0 T e O 9L 140 125 56 24 50 8 20 90 G10 115/165 95/130 140/200 M8/B12 3.5 180 177X177 216 206 330
90L 140 125 56 @24 50 8 20 90 @10 115/165 95/130 140/200 MB/M12 3.5 180 177X177 216 206 330 100L 160 140 63 @28 60 8 24 100 g2 130/215 110/180 160/250 W8/UL5 205 197197 236 261 398
8

112M 190 140 70 @28 60 8 24 112 @12 130/215 110/180 160/250 M8/M15 4 222 221x221 258 270 411 1328 216 140 89 @38 80 10 33 132 @12 265 230 300 @15 280 263X263 296 313 532

4

100L 160 140 63 @28 60 8 24 100 @12 130/215 110/180 160/250 MAJ15 4 205 197X 197 236 261 398 Fis 0 lio (i o s e s D2 v [z Fisoais | iiojias isoiase. s, 1) 1252 oo e asi loss b il
4

1324 216 178 89 @38 80 10 33 132 @12 265 230 300 @15 4 280 263X263 296 313 562 189 70 a0, ona g bk Wi o

216 178 89 @38 80 10 33 132 @12 265 230 300 @15
*RPE'/HESH, AFABIARERT HBABSRERT, *RPF/HEN, HFHBIARERTHBHIBSRERT,

*The table with "/" symbol, molecular size for the B14 installation, the denominator of B5 mounting dimensions. * The table with "/" symbol, molecular size for the B14 installation, the denominator of BS mounting dimensions.

47 48




m R ® m—— L I ® X ®
-— e - - _._z* 3= &7 _._:* = "_-- -
[ TS Haitec-GR z3m AP DImB I NYS Haitec-GR
I I
YEJEBH:H 3h R 5 BRARSE YEJRBH;H3h R 5 RARSH
Sereis YEJ Electromagnetically Controlled Series ~ Technical Parameters Sereis YEJ Electromagnetically Controlled Series ~ Technical Parameters

J\. YEJR#FIHRI =ZHR LT ENNEARSH

8. YEJ series electromagnetic braking Three—phase asynchronous motor parameters

Bl m
DZK

Rated Rated Locked Rotor | Locked Torqus | Max Torque | StaticBrakeToraue | Brake Torque

T = 77 | YEJ —63M1 -4 0.12 0.43 57 0.72
T 1] 4.4 2.4 22 35 14 0.1 64
A YEJ —63M2-4 018 061 60 0.73
YEJ —71M1 -2 037  0.98 70 0.81 22 64
YEJ —7IM2-2 055 133 73 e || 8 22 53 a5
. YEJ —71M1-4 025 076 65 0.74 58
=2z | BE sz g ( = 2 BT W) g e s 5.2 22
EHE| & R 5@“‘ i — : YEJ —T71M2-4 037  1.07 67 0.75 &l 58
pzk | AzMm YE] —7IM3-4 055 166 71 071 4 14 o041 o8
[ | B [ | R e e _ s
i = : : : : : . 4 1.9 2
YEJ-13281-2 5.5 10.7 86 0.88 - = 88 YET —7iM2 -6 025 002 | B9 —_ -
YEJ-13252-2 7.5 14.2 87 0.88 88 YET —80ML -2 075 178 75 0.83 6.1 a5 71
YEJ-132 S-4 5.5 115 85 0.83 2.3 83 YEJ —80M2-2 1 249 77 0.84 7 i 23 75
YEJ-132M-4 7.5 15.3 87 0.84 7 23 83 YEJ —80ML-4 0.55 154 71 0.75 5.2 24 : 67
YEJ-132 5-6 3 7.1 81 076 75 020 75 YEJ _:ng ': 076 199 73 gt 6 il - | 2;
YEJ —80M1 - 0.37 127 | 62 0.70 : :
YEJ-132M1-6 4 9.3 82 0.76 - - - 75 YE] —80M2-6 R 575 BB e 4.7 1.9 14 s
YEJ-132M2-6 55 12.3 84 0.77 75 YEJ —80M1-8 0.18 0.86 51 0.61 i 60
YEJ-132 S-8 2.2 6 78 071 : - = 71 YEJ —80M2 -8 025 114 54 0.61 s = ' 60
YEJ-132 M-8 3 7.6 79 0.73 ' 71 YEJ—90S-2 1.5 334 79 0.84 5.8 79
YEJ—90L-2 22 489 81 0.85 0 ' 79
—908—4 1.1 2.8 75 0.77
YEJ & . 23 72
YEJ—90L—4 15 365 78 0.79 72
YEJ—90S—6 0.75 223 69 0.72 = 2 o 15 38 015 69
YEJ A 80M2 4 B5 YEJ —90L-6 1.1 3.1 72 0.73 ' ' 69
YEJ—90S-8 0.37 147 62 0.61 y v 1.9 65
Ml & % %/ Installation of Motor YEJ —90L-8 0.55 2.10 63 0.61 : 2.0 65
YEJ -100L-2 3 6.14 83 0.87 7.5 2.2 84
h¥/Poles YEJ -100L1-4 22 505 80 0.81 _ _- 23 75
YEJ ~100L2-4 3.0 6.64 82 0.82 : ' 75
= L2 /Machine Base No. YEJ—100L—6 1.5 389 76 075 55 2.0 21 30 50 0.5 |
YEJ —100L1-8 075 234 71 0.67 4.0 i 2 69
H R $k/Electromagnet YEJ -100L2-8 | a3z | 73 0.69 5.0 ; 69
a A ﬁﬁ: 3T i L $E/ A represents AC electromagnet YEJ—112M-2 4 7.83 85 0.88 75 29 o 84
D R EiBREE D represents DC electromagnet VEJ—112M4 3 8.68 o4 0.82 o - : -
: ; 40 0.15
= Z 514X #8/Series Code YEJ—112M-6 2.2 546 79 0.76 6.5 2.0 2.1 71
YEJ—112M-8 1.5 441 75 0.69 5.0 1.8 2 69

49 50




Fiw | ® m—
1 - —— Qe - $ 7
ST s Haitec-GR = A=A b
|
YEJE#HZh R SNEU R I RS

YEJ Electromagnetically Controlled Series  Installation Dimensions

YEJE#H N ERT

Sereis YEJ Electromagnetically Controlled Series

Ll £

2
)

2

A\
)

s

\

Technical Parameters

=Rl < > Haitec-GR

S YEJR#HI BRI K =3 R~

9. YEJ electromagnetic brake motor appearance and installation dimensions

B3

L
S 1
M
\NPANDN i
I 1 B I D B O
<
[ ]
/A
E|l C B K
B14
g L —
. AN g
— \
[ [
oz ————{‘——— ————————————————————— -1- 2
‘ ‘ [
E
B34
L
AN 9 F
[
AT :
o z| M e— -] ! AN ERG
| I ;
L K D
E C B

63 100 80 40

T 112 90 45

80 125 100 50

908 140 100 56

90L 140 125 56

100L 160 140 63

1124 190 140 70

1325 216 140 89

1324 216 178 89

TR R

024

028

@28

@38

938

60

80

80

Lo e

8 20

8 20

8 24

8 24

10 33

10 33

Installation Dimensions

SNEY R <
Overall Dimensions

63 @7 75/115 60/95 90/140 5/10 2.5/3.0 135 130 180 130
71 @7 85/130 70/110 105/160 5/10 2.5/3.5 137 130 178 186
80 @10 100/165 80/130 120/200 6/12 3.0/3.5 |55 145 190 200
90 010 115/165 95/130 140/200 8/12 3.0/3.5 170 155 215 220
90 @10 115/165 95/130 140/200 8/12 3.0/3.5 170 155 215 220

100 @12 130/215 110/180 160/250 8/15 3.5/4.0 200 180 240 265

112 @12 1%0/215 110/180 160/260 8/15 3.5/4.0 930 240 300 265
132 @12 265 230 300 15 4 270 275 345 315

132 @12 265 230 300 15 4 270 275 345 315

CROF"HER, SFABI4ARER S B ABSRER S,

*The table with "/" symbol, molecular size for the B14 installation, the denominator of B5 mounting dimensions.

400

445

460

515

550

600

625

300

330

400

500

550

585

51

52




<& SHaitec- GR .

——D-

M iR A i

CERTIFICATE OF REGISTRATION

Registration No.03821 QU3S90R0S

Organization Code/Unified Social Credit Code

91440101741860542A

“This is t0 certify that the Quality Management System of

GuangDong Haitec Transmission and Technology Co., Ltd.
Audit Address: Room 102, Building 5, No.8 Yuzhou Industrial Road, Zhongtang Town, Dongguan City,
Guangdong Province/Registered Address: Room 102, Building 5, No.8 Yuzhou Industrial Road,

Zhongtang Town, Dongguan City, Guangdong Province, China

has been audited to conform to
GB/T 19001-2016/1S0 9001:2015

For the whole process of

design, production and sales of transmission

Date of Initial Issuance:2021-4-28

Date of Issuance:2021-4-28 Date of Expiry:2024-4-27

o x\tificate in which the surveillance audit conforming mark is

ase f unwﬂs Vﬁ

i ce
% M
if g enter Inc. Issued by

%57 Ap—

MANAGEMENT SYSTEM

CNAS C038-M

\

o i A

W iE iE B

a4 oo
ZHiEW] LI

B RS
S1H0101741860502A
I RERE BB RA A
WHLE TR R AT LAk Re S 545 102%

AR et - WA

R ARG A

6B/T 19001-2016/1S0 9001:2015
R R
TREMG, EEREE

IKARAEFM: 2021441281
RAEF W 20214F4f128H: #4005 2024441270

MANAGEMENT SYSTEM
CNAS C038-M

CERTIFICATE
of y with the Directive:
CERTIFICATE OF REGISTRATION
Registration NO. MPVEE2005021 B81231020073001
£ Low-Voltage Directive 2006/95/EC
This isto that the followi ufactu
e et China Lk = = o -
Haitec Hong Kong Company £ e e {
Haltec Transmission Equipment Co., Ltd
complies with the following standards of GMC
(GMC - Global Manufacturer Certificate) e
Applicant: Gy Zhou Haitec Transmission Equipment
() o [ (T oy o o u%mmwmwmzmmmm -
@mm ™~ @ Sgapmmany, & Product: Thoe-prease asynchronous mosar
: ‘OTS100-8, OTS200-8, OTS400-5, OTSIS0S, OTS15008, m
D === M s omconeommr [ Hdaliey oTs 30
v - Standardis): EN 003412010
{\_J\ E EN 6003452001 + A12007
Parameter(s): Details e Anex 1
ey LEEES sy B O — —
Date ofisme SEOE5,7000  Audi Roport NG, TE0TESES by of TU/NERD, T s o oy s
M Auct Committes {0 mﬁmm, eSS
GlobalMarket Croup (Asta) Led. 5 5y m_q;h iy T NORD P R Ghins -
www.globalmarket.com/gime =
php s e
C€ (43

o)

Procuct Certication Cente: of
OV HORD P R.China

e 1t cartfca Mo, 8642020873001 Paget art
Fils efremce: HZPAZ01011 mozan

[Typa T T oS
datigration OT8100-5 | OT5200-8 | OTS400S | OTST50-5 1500-8
Rated Voltage | 380V, 3- | 380V, 3~ | 380V, 3~ | 380V, 3~ | 380V, 3~
Rated
Pty Sz | S0z | S0Hz | DMz | saHe
Rated Curant 035A 08A 10A 20A 35A
Raled Ouiput =

2 100W 200w 1N 40w T50W 1500 W
Power Factor 0,686 0,746 0,756 0,832 0831
Rated Speed | 1400 rfmin | 1400 rfmin | 1400 t/min | 1400 nimin | 1400 /min

"Class 155 | Glass 155 | Class 155 | Ciass 155 | Ciass 155

Thermal Clas:

iz ) 1) 3] ® )
IP Code P54 P54 P54 P54 P54
Duty Type s 51 $1 s1 51 s1 51
= RSB
mathod of ¥ b J Y Y ) 4 ¥ ¥
o &l

% ﬁ [T
e S s

(€

X 301685762 5 ARRHERERE 11

L]

K

AN R

e

(19) e A RAMEEFRMIRFHE

2 P (12) SRt EH

&I

2> s v 4 w.x Haitec- GR
S

(0 BB ES O o8I0z 5
45y B R 0110978

ORS00 3007548 6
(2 iRE 20010403
(TEHLA 1 HIEY S AT
Bkt 510660 1A MR 1B
NEHEAR A A D B 1
QVRITA B
() RCIELE | R R b

N A0IERETZ §

Rl 1203
A S
| sNWEE
| 1508
150 RRMRRII AR
s
|
2
g
r-
(19) AN R AME MRS

) ‘p (12) S igi+EH)

(20 WRAF 201190075048, 6

t23) B 201108 13

TFHRA 1 H
gk 510660 1

< B B

T2 it A
el #ﬂKEnlﬁ U M'H' UL T L)

RABA Wk
(SOLEI9IC

(54) AR O~ BB
b

53

54




